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SECTION A (15 questions — Mutiple Choice)

56

57 58 50 60 61 62 63 64 65 66 67 68

Which is the odd number between 59 and 627

a) 59 b) 60 c) 61 d) 62

If 26 + A > 47, what is the value of A?

a) 21 b) 12 c) 13 d) 31

Claire began counting at 43, she is skip counting by 2s. which number she will get?

a) 48 b) 52 c) 55 d) 60
I5+10+5 ....... 55-20
a) < b) = c) > d) none of the above

John has lunch break 4 hours after school starts. If the school starts at 8: 30 am, what time
does John eats lunch?

a) 11:30 am b) 11: 30 pm c) 12: 30 am d) 12: 30 pm
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6. What is this figure?
a) pentagon b) octagon C) square d) hexagon
7. Increasing order of the numbers 32, 23,15, 62 and 6 is :
a) 62,32,23,6,15
b) 6, 15, 32, 23, 62
c) 6,15, 23,32,62
d) 62,32,23,15,6
8. On Halloween, the kids collected candies:
Candy collected
Child | Number of candies
Ria 69
Sandy 41
Amber 34
Asha 45
Who collected the least (minimum) number of candies?
a) Ria b) Sandy c) Amber d) Asha
Q. If its 9:15 pm now, what will be the time after five hours?
a)1: 15am b) 1: 15 pm ¢) 2:15am d) 2:15pm
10. I have five dollars. My mom gave me 6 quarters more. How much money do | have now?

a) $6.25 b) $6.50 C)$6.75 d)$7.50
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11.  The weight of a dog is more likely to be

a) 7 grams b) 7 kilograms ¢) 70 kilograms d)700 kilograms
12.  If December 1, 2010 was Tuesday, what will be the day on December 8, 2010?

a) Thursday b) Wednesday c) Tuesday d) Monday
13.  You have 37 cents. How much more money you need top make a Dollar?

a) 2 quarters + 1 nickle + 3 pennies

b) 2 quarters + 1 dime + 3 pennies

C) 2 quarters + 2 dimes + 3 pennies

d) 2 quarters + 3 dimes + 3 pennies
14, $275+$050+%$0.70 =

a) $3.25 b) $3.75 c) $3.95 d) $4.00
15.  What is the mode of

731633637

a) 1 b) 3 c) 4 d) 6
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SECTION B (10 questions - Fill in the blanks)
16.  Five thousand Six hundred and six = .................
17. 45 more than 64 is.............
18. $235=......... quarters + ........ dimes + ......... nickels
19. 25+10=......... +20
20. 328 +372 =
21. 7 multipliedby 6 =60 - ........
22. In the number 1452, which number is at hundreds place? ..........
23. If A+A+A+A+A =25thenA =........
24, 100-40=10X ........
25.  If I get 4 balls for $ 1.00, how many balls I will buy for $ 5.00? ....
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SECTION C (5 questions - Challenging)

26.  Inamath quiz, 3 points are given for each correct answer and 2 points are substracted for
each wrong answer. If there were a total of 25 questions and he attempted all of them,
Roy got 20 questions correct, how many total points he got?

27.  Mom's car has a gas tank that can hold upto 22 gallons of gas. She filled it up to full tank
and used 3 gallons on Monday, 5 gallons on Tuesday, 3 gallons on Wednesday, 4 gallons
on Thursday, 2 gallons on Friday. She went to fill the gas tank on Saturday, how many
gallons of gas she got on Saturday?
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28.  Lucy went for apple picking and picked 248 apples in her basket. She sold 192 apples at
her stall and packed the remaining apples in boxes. I f she used 8 boxes to pack the
remaining apples equally, how many apples does each box contain?

29. A water bottle holds 2 liters of water. If 5 water bottles fill a pot, and 6 pots were used to
fill an aquarium with water, how much water does the aquarium has(in liters)?

0. If Q00=15 ad IIDTY =20

then, how much is SO TOO00T 0TSO 2



